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1. The length of a tangent drawn to a circle

from a point which is a distance of 13 cm from


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_AbYKSguuh7tN

tha centre of the circle is 12 cm.Find the radius

of the circle.

° Watch Video Solution

2. If the points of contact of the tangents
drawn from an external points P to a circle
with centre O be A and B,then show that PAOB

is a cyclic quadrilateral.

o Watch Video Solution



https://dl.doubtnut.com/l/_AbYKSguuh7tN
https://dl.doubtnut.com/l/_MTEA5nUUxPtg

3. The line joing the points of contact of two
parallel tangents to a circle passes through

the centre.Prove it.

o Watch Video Solution

4. PA and PB are two tangents drawn from an
external point P at the points A and B on a
circle with centre O.If another tangent to the
circle intersects PA and PB at L and M

respectivelyshow that LM=AL+BM.

| & |


https://dl.doubtnut.com/l/_nFdP8RNVvk1O
https://dl.doubtnut.com/l/_6RUYdPpXQkd1

| ¥ Watch Video Solution |

5. If a circle touches all the sides of the
quadrilateral ABCD,then show that

AB+CD=BC+DA.

o Watch Video Solution

6. PA and PB are two tangents drawn from an
external point P at the points A and B on a

circle C(O,r).Prove that OP 1 AB

o Watch Video Solution



https://dl.doubtnut.com/l/_6RUYdPpXQkd1
https://dl.doubtnut.com/l/_LvB5zGcYGGxL
https://dl.doubtnut.com/l/_01tatR9h8ARR

7. If the incircle of the triangle ABC touches
the sides ABBCCA at PO and R
respectivelythen show that:
AP + BQ + CR =1/2 perimeter of

triangleABC

o Watch Video Solution

8. ABCD is a quadrilateral such that/D = 90°

.The circle C(O,r) touches the sides AB,BC,CD


https://dl.doubtnut.com/l/_01tatR9h8ARR
https://dl.doubtnut.com/l/_0pf4jqefRuRE
https://dl.doubtnut.com/l/_XvTATAG08HbU

and DA at PQR and S respectivelylf

BC=38cm.CD=25cm and BP=27cm.then find r.

° Watch Video Solution

9. If two parallel tangents drawn to a circle
with centre O are intersected at the points D
and E respectively by a tangent drawn at

another point on the circlethen show that

/ZDOE = 90°

° Watch Video Solution



https://dl.doubtnut.com/l/_XvTATAG08HbU
https://dl.doubtnut.com/l/_iLpfYiMZUulY

1. How many tangents can a circle have?

° Watch Video Solution

2. A tangents to a circle intersects it in

points

o Watch Video Solution



https://dl.doubtnut.com/l/_NzUrJ5tRASBA
https://dl.doubtnut.com/l/_oqPHkLOhe8PR

3. A line intersecting a circle in two points is

o Watch Video Solution

4. A circle can have parallel tangents at the

most.

o Watch Video Solution



https://dl.doubtnut.com/l/_UyxcheescBJ9
https://dl.doubtnut.com/l/_E2lShUbfK7dz

5. The common points of a tangnt to a circle

and the circle is called

o Watch Video Solution

6. A tangent PQ at a point P of a circle of
radius 5 cm meets a line through the centre O
at a point Q so that 0Q=12 cm.Length PQ is

a):12cm b)13cm ¢)8.5cm d)\/1_196m

A.12cm

B.13cm


https://dl.doubtnut.com/l/_ZNGqIgiuI1kp
https://dl.doubtnut.com/l/_esEPJ36qdf7f

C.8.5cm

D. ,/119cm

Answer:

° Watch Video Solution

7.Draw a circle and two line parallel to a given
line such that one is a tangent and the other,a

secant to the circle.

° Watch Video Solution



https://dl.doubtnut.com/l/_esEPJ36qdf7f
https://dl.doubtnut.com/l/_h7Nsa2nIrXFe

8.From a point Q,the length of the tangent to

a circle is 24 cm and the distance of Q from

the centre is 25 cm.The radius of the circle is

a)7 cm b)12 cm ¢)15 cm d)24.5 cm

A.7cm

B.12 cm

C.15cm

D.24.5 cm

Answer:

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_sWVAuNId6CFz

9. In Fig1011,if TP and TQ are the tangent to a
circle with centre O so that ZPOQ@ = 110°

then/Z PT'Qis equal to


https://dl.doubtnut.com/l/_sWVAuNId6CFz
https://dl.doubtnut.com/l/_bSuWabrtDMoV

a)60° b)70° c)80° d)90°

1% [

A.60°

B.70°


https://dl.doubtnut.com/l/_bSuWabrtDMoV

C.80°

D.90°

Answer:

o Watch Video Solution

10. If tangents PA and PB from a point P to a
circle with centre O are inclined to each other

at angle of 80° thenZPOA is equal to

A.50°


https://dl.doubtnut.com/l/_bSuWabrtDMoV
https://dl.doubtnut.com/l/_29ON6pq8W5wT

C.70°

D.80°

Answer:

o Watch Video Solution

11. Prove that the tangents drawn at the ends

of a diameter of a circle are parallel.

o Watch Video Solution



https://dl.doubtnut.com/l/_29ON6pq8W5wT
https://dl.doubtnut.com/l/_3uDiCYrrr9KV

12. Prove that the perpendicular at the points
of contact to the tangents to a circle passes

through the centre.

o Watch Video Solution

13. The length of a tangent from a point A at
distance 5 cm from the centre of the circle is 4

cm.Find the radius of the circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_F6iervtiP6bV
https://dl.doubtnut.com/l/_6XCbx5Pjjpza
https://dl.doubtnut.com/l/_byRAo6tFPxyF

14. Two concentric circles are of radii 5 cm and
3 cm.Find the length of the chord of the larger

circle which touches the smaller circle.

o Watch Video Solution

15. In Figl1013, XYandX'Y' are two parallel
tangent to a circle with centre O and another
tangent AB with point of contact C

intersecting XY at A and X'Y' at B.Prove that


https://dl.doubtnut.com/l/_byRAo6tFPxyF
https://dl.doubtnut.com/l/_aWpQo8GqmWWH

ZAOB = 90°.

o Watch Video Solution

16. Prove that the angle between the two
tangents drawn from an external point to a

circle is supplementary to the angle


https://dl.doubtnut.com/l/_aWpQo8GqmWWH
https://dl.doubtnut.com/l/_ZHwBg514Zzuc

subtended by the line-segment joining the

points of contact at the centre.

° Watch Video Solution

17. Prove that parallelogram circumscribing a

circle is a rhombus.

o Watch Video Solution

18. Prove that opposite sides of a quadrilateral

circumscribing a circle subtend supplementary


https://dl.doubtnut.com/l/_ZHwBg514Zzuc
https://dl.doubtnut.com/l/_eEWfg0SBQft4
https://dl.doubtnut.com/l/_Vm6zfuA2BdwW

angles at the center of the circle.

° Watch Video Solution

19. In figure ,if AD,AE, and BC are tangents to

the Circle at D,E and F respectively then

A. AD=AB+BC+CA


https://dl.doubtnut.com/l/_Vm6zfuA2BdwW
https://dl.doubtnut.com/l/_FwHLtVBRtHTk

B. 2AD=AB+BC+CA

C. 3AD=AB+BC+CA

D. 4AD=AB+BC+CA

Answer:

o Watch Video Solution

20. In the adjacent figure if AB=12 cm,BC=8cm

and AC=10 cm then the value of AD is


https://dl.doubtnut.com/l/_FwHLtVBRtHTk
https://dl.doubtnut.com/l/_FwAaFP3tjV5F

A. 4cm

B. 5cm

C.6cm

D.7cm

Answer:



https://dl.doubtnut.com/l/_FwAaFP3tjV5F

I O Watch Video Solution

21. In figure the perimeter of A ABC'is

A. 15cm

B.30cm


https://dl.doubtnut.com/l/_FwAaFP3tjV5F
https://dl.doubtnut.com/l/_3kuiiIWr8g9i

C.45cm

D. 60cm

Answer:

° Watch Video Solution

22. In figure AP is a tangent to the circle with

centre 0] such that OP=4cm and


https://dl.doubtnut.com/l/_3kuiiIWr8g9i
https://dl.doubtnut.com/l/_JXXF4YWVVI1h

/OPA = 30° then the value of AP is

A.2cm
B. 24/2cm
C.2v/3em

D. 3v/2cm

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_JXXF4YWVVI1h

23. In figure if AP=PB then

A. AB=BC

B. AC=BC

C. AQ=0C


https://dl.doubtnut.com/l/_JXXF4YWVVI1h
https://dl.doubtnut.com/l/_gXfE0pzoc6uC

D. AC=AB

Answer:

° Watch Video Solution

24. In figure if AP=10cm then the value of BP

will be



https://dl.doubtnut.com/l/_gXfE0pzoc6uC
https://dl.doubtnut.com/l/_AB630SImizP0

A./91cm

B.v127cm

C./119cm

D. /109cm

Answer:

° Watch Video Solution

25. In figure if AB=8cm and PE=3cm then the

value of AE will be


https://dl.doubtnut.com/l/_AB630SImizP0
https://dl.doubtnut.com/l/_OxWMwyOikKlB

A.7cm

B.3cm

C.5cm

D. 11cm

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_OxWMwyOikKlB

26. In figure PQ and PR are tangents drawn
from P to a circle with centre Olf
ZOPQ = 35° then

= l:]

Aa = 30°,b=60°

B.a = 45°, b = 45°

C.a =35",b=55"


https://dl.doubtnut.com/l/_OxWMwyOikKlB
https://dl.doubtnut.com/l/_xqZ3rArWoRXZ

D.a = 40°, b = 50°

Answer:

o Watch Video Solution

27. In figure RQ is a tangent to the circle with

centre O.If PQ=6cm and QR=4cm then the value


https://dl.doubtnut.com/l/_xqZ3rArWoRXZ
https://dl.doubtnut.com/l/_KhGQv9kusuKX

of OR is

A. 3cm

B. 2.5cm

C.5cm

D. 8cm

Answer:



https://dl.doubtnut.com/l/_KhGQv9kusuKX

| ¥ Watch Video Solution

28. In figure if Quadrilateral PQRS

circumscribes a circle then PD+QB=

A. PR


https://dl.doubtnut.com/l/_KhGQv9kusuKX
https://dl.doubtnut.com/l/_tzmFEHN0EcU6

B. PQ

C.QR

D. PS

Answer:

o Watch Video Solution

29. In figure two equal circles touch each other

at T if QP =4.5 cm then QR=


https://dl.doubtnut.com/l/_tzmFEHN0EcU6
https://dl.doubtnut.com/l/_u1mavq0DDBNi

Q. P R

A. 9cm

B. 18cm

C.15cm

D. 13.5cm

Answer:

° Watch Video Solution
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30. A line which touches the circle is known as

o Watch Video Solution

31. tangent can be drawn through a point

on a circle.

o Watch Video Solution



https://dl.doubtnut.com/l/_WRE8Mck3Xe4U
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32. Tangents at the end points of a diameter

are

o Watch Video Solution

33. Secant intersects a circle at distinct

points.

o Watch Video Solution



https://dl.doubtnut.com/l/_Gm19C6aGGZvL
https://dl.doubtnut.com/l/_3sGZ6YpGD1Gn

34. Circle divide a plane in 3 parts ,

and

o Watch Video Solution



https://dl.doubtnut.com/l/_WhhEpSx758Rd

